
Lecture 20 - April 1

Binary Search Trees, Balanced BSTs

BST: Searching, Insertion
Hight Balance Property
Priority Queue: Introduction



Announcements/Reminders

• Assignment 4 (on linked Trees) released
• Makeup Lecture (for ProgTest2) to be posted
• Bonus opportunity: Final Course Evaluation
• Office hours 3pm Tue/Wed/Thu this week
• Lecture notes template, Office Hours, TA Contact



BST Operation: Searching a Key
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Tracing: Searching through a BST

(28, “alan”)

(21, “mark”) (35, “tom”)
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Running Time: Search on a BST
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Binary Search: Non-Linear vs. Linear Structures
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Visualizing BST Operation: Insertion

Insert Entry (28, “suyeon”)

Insert Entry (68, “yuna”)
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Worst-Case RT: BST with Linear Height
Example 1: Inserted Entries with Decreasing Keys

<100, 75, 68, 60, 50, 1>

Example 2: Inserted Entries with Increasing Keys
<1, 50, 60, 68, 75, 100>

Example 3: Inserted Entries with In-Between Keys
<1, 100, 50, 75, 60, 68>
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- internal node
- height
- height balance

Balanced BST: Definition

Q. Is the above tree a balanced BST?
Q. Still a balanced BST after inserting 55?
Q. Still a balanced BST after inserting 63?
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What is a Priority Queue (PQ)
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